[ Efficiency vs vertpos |

= 0.1
e AR SUTEIRR SRR
o F
2008 -+ eeeedre b
2 E
_50.07_— """""""""""""""""
2 E
$0.06E -

0.05F -

0.04F -1+

0.03F

0.02
0.0

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom

J_H.qp- H & 4

093 =20 -10

TTTTT]

=
(@)

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
e —
% SO OO SO O O |
EQ_,045 : HE A AR o M [EREE
£ 5 SRS
7R T | A A B
.05 oo ik
5 . . : : :
20.03
k3
9.025
[J]
0.02
0.015F -+ {fif- 4! ¥
0.00F -+ ebpefiememdonnendond
0,005 ++meeireeedienesbonnndo i

Sim. PV z (cm)



	Contents
	Page 1


